ACTIVITY PAIR OF LINEAR EQUATIONS WITH TWO VARIABLES

1) Solve the following pair of Pair of linear equations graphically and verify by
(a) Substitution method and (b) Elimination method and draw Inference.

()x+y=5and 2x — 3y =4 and
(i)x—y=1and 2x+y =18
Rubrics:

Calculation of the co-ordinates

Plotting and the points on the graph

Drawing the graph and finding the solution

Verification by other two methods
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Comparison of the solutions and Conclusion

2) Consider the following Pair of linear equations
(H)2x—y=5and x+ 2y = 10 and
(i)x+2y—4=0and 2x+4y—-12=0

(a) Find and compare the ratios ﬂ, by and <L
az’ by Cy

(b) Discuss the nature of equations, solution and lines.
(c) Draw a graph and find the solution.
(d) Now comparison your findings in (a), (b) and (c) and conclude.

Rubrics:

Comparison of ratios

Discussion of the nature of equation, solution and line

Drawing the graph

Calculation co- ordinates and the ratios
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Final comparison and Conclusion




3) Form the linear equations, solve graphically and find their solutions

5 pencils and 7 pens together costs 503 . Where as 7 pencils and 5 pens together costs
46% . Find the cost of one pencil and one pen.

Rubrics :-

1 :- Framing the equations 3 marks
2 :- Determining the points 3 marks
3 :- Plotting the graph 3 marks
4 :- Finding the solutions 3 marks

5 :- Finding the cost of each pen and pencil 3 marks

15 marks
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